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A cell phone company charges $60.00 a month for up to 1 gigabyte
of data. The cost of additional data is $0.05 per megabyte. If d
represents the number of additional megabytes used and c
represents the total charges at the end of the month, which lincar
equation can be used to determine a user’s monthly bill?

(1) ¢ = 60— 0.05d (3) ¢ = 60d = 0.05

(2) ¢ =60.05d (4) ¢ =60+ 0.05d
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Aball is thrown into the air from the edge of a 48-foot-high cliff so
that it eventually lands on the ground. The graph below shows the
height, y, of the ball from the ground after x seconds.

y
1921

1 2 3 4 5 6

For which interval is the ball’s height always decreasing?
(1) 0=x=25 (3) 25<x<55
(2) 0<x<55 ) x=2
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Which system of equations has the same solution as the system
below?

2+ 2 =16
-y=4
(1) 2x+2y =16 (3)x+y=16
6x-2y=4 Bx—y=4
(@) 2c+2y =16 (4) 6r + 6y = 48

6x-2=8 Grt2y =8
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IfA =3 +5r = 6and B = =2 — 6r + 7, then A — B equals
(1) =52 = 11x + 13 (@) =52 -x+1
(2) 5%+ 1lx — 13 4) 52 —x+1
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Which value of x satisfies the equation --(x + 3¢

(1) 8.25 (3) 19.25
(2) 8.89 (4) 44.92
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A company that manufactures radios first pays a start-up cost, and
then spends a certain amount of money to manufacture each radio.
If the cost of manufacturing r radios is given by the function
c(r) = 5.25r + 125, then the value 5.25 best represents

(1) the start-up cost

(2) the profit camed from the sale of one radio

(3) the amount spent to manufacture each radio

(4) the average number of radios manufactured
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Which equation has the same solution as x> — 6 — 12 = 0?
(1) @+32=21 3) x+32=3
2 x-3PF=21 4) @-32=3
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Keith determines the zeros of the function f(x) to be —6 and 5.
‘What could be Keith’s function?

(1) fix) = (x + 5)(x + 6) (3) fix) = (x = 5)(x + 6)

2) flx) = (x + 5)(x = 6) (4) flx) = (x = 5)(x = 6)




